<u>EB-2022-0110 : 1 : Dwayne Quinn</u>

COST CLAIM NUMBER 833	SUBMISSION DEADLINE DATE November 21, 2022	CLAIM STATUS Approved by Finance
EB# EB-2022-0110: Rates: Distribution: Enbridge Gas Inc.	OTHER EB#S	PHASE #* 1
INTERVENOR Quinn, Dwayne; +1 (519) 500-1022 drquinn@rogers.com	INTERVENOR COMPANY* Federation of Rental-housing Providers of Ontario, Toronto: Cooperative	INTERVENOR TYPE Full Registrant
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY
HST NUMBER 82029 2415 RT 0001	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

New	Non-Filing Participant First, Last Name	Filing Participant	Participant Total (\$) Claim Status
No	,	Quinn, Dwayne; +1 (519) 500-1022 drquinn@rogers.com	14,729.55 Submitted

ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
FRPO EB-2022-0110 Cost Claim 111820221730.pdf					
FPRO_DRQ_INV_EGI 2021 DEF_20221118.pdf			Invoice		
DRQ_2021 DEF VAR_TIMESHEET_20221118.pdf			Time Docket		
FRPO_COST CLAIM_EGI 2021			Cost Claim		
DEF_SUPP_20221118.pdf FRPO EB-2022-0110 Cost Claim 111820221733.pdf					
TOTAL LEGAL/CONSULTANT/OTHER FEES 13,035.00	TOTAL DISBUF	RSEMENTS 0.00			TOTAL HST 1,694.55
TOTAL CLAIM 14,729.55	TOTAL AMOUN	IT AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANG	DE - 2			ON FOR OWANCE - 3
MAKE CHEQUE PAYABLE TO FEDERATION OF RENTAL-HOUSING PROVIDERS OF	ONTARIO				
SEND PAYMENT TO ADDRESS 20 Upjohn Rd, Suite 105 Toronto, ON M3B 2V9				ATTEN MS. L.	TION COOPER
SUBMIT SECTION I am a representative of the Party. I have examined all o incurred and time spent are directly related to the Party's					
This cost claim does not include any costs for work done	e, or time spent, by	a person that is	s an employee	or officer o	of the

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DWAYNE R QUINN DATE SUBMITTED November 18, 2022

Dwayne Quinn PARTICIPANT CASE COST CLAIM INTERVENOR NAME **CLAIM STATUS** EB-2022-0110 : 1 : Dwayne EB-2022-0110: Rates: Quinn, Dwayne; +1 (519) 500-1022 Submitted Distribution: Enbridge Gas Inc. Quinn drquinn@rogers.com NEW **NON-FILING NON-FILING FILING PARTICIPANT** PARTICIPANT PARTICIPANT F. NAME PARTICIPANT L. NAME Quinn, Dwayne; +1 (519) 500-1022 No drquinn@rogers.com SERVICE PROVIDER TYPE YEAR CALLED TO BAR **COMPLETED YEARS** HOURLY RATE Consultant PRACTICING/YEARS OF 330 **RELEVANT EXPERIENCE** 34 **CV STATUS (FOR** HST RATE CONSULTANT/ANALYST) LAST CV DATE CHARGED CV Provided within Previous 24 February 18, 2022 13.00 Months HEARINGS CONSULTATIONS DISBURSEMENTS Yes No No **HEARINGS** Name Hours **Hourly Rate** Sub Total **HST Rate** HST Total **Review Application and Evidence Review Application and Evidence** 5.00 330 1,650.00 13.00 214.50 1,864.50 Discovery Preparation of Interrogatories 9.50 330 3,135.00 13.00 407.55 3,542.55 **Review Interrogatory Responses** 5.50 330 1,815.00 13.00 235.95 2,050.95 **Technical Conference Preparation** 330 13.00 **Technical Conference Attendance** 330 13.00 Technical Conference Follow Up 330 13.00 **Issues List** Preparation 330 13.00 Attendance at Issues Conference 330 13.00 Intervenor Evidence Preparation 330 13.00 Interrogatory Responses 330 13.00 Preparation of Witness(es) for Attendance 330 13.00 at Hearing Settlement Conference / ADR Preparation 5.50 330 1,815.00 13.00 2,050.95 235.95 4,290.00 Attendance 13.00 330 13.00 557.70 4,847.70 Preparation of Settlement Proposal 1.00 330 330.00 13.00 42.90 372.90 Attendance at Presentation to Panel 330 13.00 **Oral Hearing** Preparation 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions Written Submissions 330 13.00 **Oral Submissions** 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance 330 13.00 Other Attendance Communication With Client 330 13.00 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00 Confidentiality

November 24, 2022

Preparation of Application for	330	13.00
Confidentiality		
Prepare Submissions on Confidentiality	330	13.00
Attendance at Hearing on Confidentiality	330	13.00
Decision		
Review	330	13.00
Rate Order		
Review	330	13.00
Prepare Submission on Rate Order	330	13.00
Total Service Provider Fees		
Total Service Provider Fees:	13,035.00	1,694.55 14,729.55

Attachments

Attachment	Document Type	Import Message
FPRO_DRQ_INV_EGI 2021	Invoice	
DEF_20221118.pdf		
DRQ_2021 DEF	Time Docket	
VAR_TIMESHEET_20221118.pdf		
FRPO_COST CLAIM_EGI 2021	Cost Claim	
DEF_SUPP_20221118.pdf		

Hearings, Consultations, Disbursements Attachments

ricaningo, conour		Document		
Attachment	Related Disbursement Claim	Туре	Claim Type	Import Message
FPRO_DRQ_INV_E		Invoice	Hearings	
GI 2021				
DEF_20221118.pdf				
DRQ_2021 DEF		Time Docke	Hearings	
VAR_TIMESHEET_				
20221118.pdf				
FRPO_COST		Cost Claim	Hearings	
CLAIM_EGI 2021				
DEF_SUPP_202211				
18.pdf				

Customer R	efNumber Item	Service Date	Description	Quantity	Price	
FEDERATION OF REN1	264 Consulting:Cons - OEB	7/20/2022	REVIEW EVIDENCE, ID ISSUES	1		_
FEDERATION OF REN1	264 Consulting:Cons - OEB	7/28/2022	REVIEW EVIDENCE, ID ISSUES	2		
FEDERATION OF REN1	264 Consulting:Cons - OEB	7/30/2022	REVIEW EVIDENCE, ID ISSUES, REVIEW EB-2020-0134, EB-2020-0149	3		5
FEDERATION OF REN1	264 Consulting:Cons - OEB	8/8/2022	REVIEW CONFIDENTIAL EVIDENCE, DRAFT CONFIDENTIAL IRR's, DRAFT IR's	5		
FEDERATION OF REN1	264 Consulting:Cons - OEB	8/9/2022	DRAFT & REFINE IRR'S, SUBMIT	3.5		9.5
FEDERATION OF RENT	264 Consulting:Cons - OEB	9/3/2022	REVIEW IRR's, PAST PROCEEDING RECORDS	3		
FEDERATION OF RENT	264 Consulting:Cons - OEB	9/5/2022	REVIEW IRR'S, PAST PROCEEDING RECORDS, PREPARE FOLLOW-UP	1.5		
FEDERATION OF RENT	264 Consulting:Cons - OEB	9/6/2022	FINALIZE & SUBMIT FOLLOW-UP	1		5.5
			PREPARE & DISTRIBUTE INTERVENOR PACKAGE ON VECTOR ISSUE -			
FEDERATION OF REN1	264 Consulting:Cons - OEB	9/8/2022	CONFIDENTIALITY	1.5		
FEDERATION OF REN1	264 Consulting:Cons - OEB	9/12/2022	INTERVENOR COMMUNICATION ON VECTOR, PREPARE TECH CONF QUESTIONS	2.5		
FEDERATION OF RENT	264 Consulting:Cons - OEB	9/13/2022	RESPOND/CLARIFY INTERVENOR QUESTIONS, FINALIZE PREP FOR CONFERENCE	1.5		5.5
			ATTEND SETTLEMENT CONFERENCE, REVIEW VECTOR INFO WITH EGI			
			CLARIFICATIONS, REVIEW PAST PROCEEDINGS & PREPARE ELEMENTS OF REQUEST			
FEDERATION OF REN1	264 Consulting:Cons - OEB	9/14/2022	FOR REPORTING	8		
FEDERATION OF REN1	264 Consulting:Cons - OEB	9/15/2022	ATTEND SETTLEMENT CONFERENCE	5		13
FEDERATION OF REN1	264 Consulting:Cons - OEB	9/27/2022	REVIEW AGREEMENT, ADD SPECIFIC COMMENTS, EDITS	1		1

DR QUINN & ASSOCIATES LTD.

130 Muscovey Drive, Elmira, ON N3B 3P7

(519) 500-1022

drquinn@rogers.com

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Invoice

Date	Invoice #	
11/18/2022	264	

Terms

Net 60

Service Dates	Description	Qty	Rate	Amount
	FRPO REPRESENTATION IN EB-2022-0110 EGI 2021 DEFERRAL			
	DISPOSITION			
7/20/2022	REVIEW EVIDENCE, ID ISSUES	1	330.00	330.00
7/28/2022	REVIEW EVIDENCE, ID ISSUES	2	330.00	660.00
7/30/2022	REVIEW EVIDENCE, ID ISSUES, REVIEW EB-2020-0134, EB-2020-0149	3	330.00	990.00
8/8/2022	REVIEW CONFIDENTIAL EVIDENCE, DRAFT CONFIDENTIAL IRR's, DRAFT IR's	5	330.00	1,650.00
8/9/2022	DRAFT & REFINE IRR'S, SUBMIT	3.5	330.00	1,155.00
9/3/2022	REVIEW IRR's, PAST PROCEEDING RECORDS	3		990.00
9/5/2022	REVIEW IRR's, PAST PROCEEDING RECORDS, PREPARE FOLLOW-U	P 1.5	330.00	495.00
9/6/2022	FINALIZE & SUBMIT FOLLOW-UP	1	330.00	330.00
9/8/2022	PREPARE & DISTRIBUTE INTERVENOR PACKAGE ON VECTOR ISSU CONFIDENTIALITY	JE - 1.5	330.00	495.00
9/12/2022	INTERVENOR COMMUNICATION ON VECTOR, PREPARE TECH CON QUESTIONS	IF 2.5	330.00	825.00
9/13/2022	RESPOND/CLARIFY INTERVENOR QUESTIONS, FINALIZE PREP FOR CONFERENCE	1.5	330.00	495.00
9/14/2022	ATTEND SETTLEMENT CONFERENCE, REVIEW VECTOR INFO WITI EGI CLARIFICATIONS, REVIEW PAST PROCEEDINGS & PREPARE ELEMENTS OF REQUEST FOR REPORTING	4 8	330.00	2,640.00
9/15/2022	ATTEND SETTLEMENT CONFERENCE	5	330.00	1,650.00
9/27/2022	REVIEW AGREEMENT, ADD SPECIFIC COMMENTS, EDITS	1	330.00	330.00
	HST on Sales		13.00%	1,694.55
	То ⁻	tal	<u> </u>	\$14,729.55

DR QUINN & ASSOCIATES LTD.

VIA RESS

November 18, 2022

Ontario Energy Board <u>Attn</u>: Ms. Nancy Marconi, OEB Registrar 27th Floor, 2300 Yonge Street, Toronto ON M4P 1E4

RE: EB-2022-0110 EGI 2021 Deferral Dispositions - FRPO Cost Claim Support

We are writing on behalf of the Federation of Rental-housing Providers of Ontario (FRPO) in support of our cost claim in the EGI 2021 Deferral Disposition proceeding.

Given our focus on natural gas in the OEB's proceedings, we view Deferral Disposition proceedings as an opportunity, to the extent possible, that ratepayers, including our members, are getting what they paid for in terms of actual performance from the utility. As time has passed since the merger of the utilities and even more since their last rebasing proceedings, the evaluation of the reporting in the application has become more challenging. As a result, we have invested more time in the understanding and discovery regarding these accounts including IR's submitted on confidential evidence.

This year our discovery had an added measure of complexity. Across the Gas Supply proceeding¹ and the most recent QRAM², FRPO has pursued understanding of contracting decisions taken by EGI in increasing ratepayer cost for deliveries from Chicago via Vector pipeline. We outlined the challenge of that pursuit in submissions to the Board in the most recent QRAM proceeding³. In the current proceeding, we strived to access data from EGI to complete the picture resulting in provisions in the Settlement Agreement for enhanced reporting in the 2022 Deferrals proceeding.

Further, we invested time assisting our fellow intervenors on the Vector issue and other issues arising from our discovery. As a result, our investment of time in this proceeding will likely significantly exceed our fellow ratepayer representatives.

We remain available if the Board has any specific questions or concerns regarding our cost claim.

Respectfully Submitted on Behalf of FRPO,

Dwayne R. Quinn Principal DR QUINN & ASSOCIATES LTD.

¹ EB-2022-0072

² EB-2022-0150

³ EB-2022-0150 FRPO_cost claim_EGI QRAM_20220629